o

.,
7 So-%:g20 ¢
[LB <40

:b Lo \f'\" audivg

. Bapress
i er,o'f h

(XV\H: X 1'2%“ 1' L

%vm :Xhea“ : (A" X+ 2% = ’-’C(-'Za *oz(x;.aabl—_ 311-45
ST T N XY s (g e 2w a g
k n@ > i —za A = Ul_zv _L\

Powerg x (s 63.>
O"‘Q = 4982 = 2282

(e P= 143G+ 2 (6~ 8E) = TS5
/C“‘Q—> Cg+z£§_§‘ c\i \1&3_%2— {1282
C“&K\* Y& = [+ INZ 1931 + Lo 502

C\*n = X, Qa2 +{2- | \«—\D\\\r w393 + Bl
(-BY' 2 xq-Yuz *Haﬁfg*zﬁ = T4 542 ;;”m
(BB W’C-l) = oe- 2k (;:‘L—@——ii@ Qs

AR -




o @;&)’; a'z-

2 34?

Fur Va1t Pl Qw2 =05
Erau o) ©\ =242
B s T (Qu +\) «\ :232

= 'IA=3' =) %:_[I %:5—

S —

X wmfs g e ok
oy (o4 Sdawandal sﬁQﬂNé*: Leaaky
(Wsmmsa@ez K >4 )

gy (™ wgt, 2 %80 ™
(‘X\«,‘Av\,) TR CX«M—\, Qs S:GZ(XH # %*5\'\ )C’E_,Té—:\ +@V\>
Cow&\wﬁ IQR\G. NN B -
I
M A = Oy * o :Y-C‘qu:"”ra“%‘ﬁl
Gl ke T
Mo Lde
‘%(;Aékml-g \\i dl{\\. Z:’ \\&«;‘;qu-aaik.@
Rq = L"l.! ah@’ ﬁ



=9

= {
S+
1= &5
P
o - { . gion
) A ‘*\féﬁ‘\\\‘.f 7 =\« =2
T \ (Z-)(Erd=4
= | &) =
?>> \rz ~ ( G > \+ N
\ré-\-\ — { .
2+ \Yé*\ / =i : \ = C\)QIZ; 2;00‘&"3
2+
2+
2

ANS=T2444 .7
S>@ = \x C\E_\>:\+ \ C\E"‘><‘E+ ‘3:3"\29-

21

=) (@)= 2
Vv )
:‘—E— '_—'\'—‘fz \‘% \ - \
Z \fi’*‘ |+ \_\a ¢ i
Sed ‘ 24 S — od =
(ﬁ*‘ (F__a,f\o "2
S A 222 ...3 ’?‘1‘>
[, 1l e o 5 CL2.a% ta... ]
f_2,3/ [ Lione 8 E2hon @i

L3 ve,2 2. 0



e

\ r@i&“‘\e‘v‘,va Wi Gor W= C O\J!}C{&' ,Q —X %‘é -
& CQ/QM W3 Am bs =

@o“'s:‘l“( A= &2‘:{‘\' 9¢ _\ :t‘) 2, 2‘;"" 1
2-&-—'——
/ask &ﬁkiow&s: 2e - |
RN
\"‘,A |~q . |
g = 1+ = S |
1 = Z |
3 I+ 2_«(—-—‘——- [ + S/Z = \'\'S =
2.
' . ( g I 41 _ 99
% V& 2+(/r - 12/5-‘ . w2l rg“‘ﬁ,(&‘ 7O
A . 5329
2 ¥ leq

(ﬂ/\%(&‘« i b 2 -% w-th @mwz.ram‘t & (2

JQ-Q""'& Tt “a = Cy B skrhion X
QCIQQ[& Zj/«,oul-w = 2312 - %n

ok
' ry_‘\‘\ = Piﬁf’.‘- % '()Q\-! N~ Gowxzc"%,-m'{-‘/g ﬁ&\zQ*’Zi_\__:’bf%f
q'm 2% ..
g—o -@M Q"*‘)‘SL Ceuvergpix 2 vl & |+ { = |+ q P-n%Z‘lm
r?-*\ Pw'fqv\ P‘“"&m

Qo Pk"(c’ G’\n x2 @v\
qfwu‘ P q"h



n»—bl»\ g‘,“uw?ni L—r

W )
(= .--‘\ n Q‘-‘/L&_

D+ 1
(.(.._Ls
2+

l*c—-"\

v £ T
[ B

2% .



. —
("\S T G = ess G\“‘?B} whare oe- aos Y
Cos (W+ DY ~ ces (vx—x)*? = X ce= O @ssu;g

[—====

o

Tl G = 2 s To=N - T G \

(T Leymee v
Rz 2% =\

TG 24>~ 2
N (<5 &'{ L 2 & / 2
‘4 (x\) ‘-%'X = %'X -+ \ = {2(‘275 ”‘3 -\ :2(4x,¢czel-{

T <x>> = T (T Y= T (D

. v (52 = &v\(? L% x = @=s P WU, (= - T, (=)
TS o
X (=4 U, OD= 23 Uy 3= U, (=)
N (D= 2 x _47:’:?=2z.2/_7;/_ —L'/:i
2(5 () = Z/ %'Z._/ a+l ; =
U2 = B>l T <@ 275 T2

wﬁ’zn'f-r §;¢1‘2“L<f = [
MQ (x) + (/- 7')L(Z(z> =
_IZ ( 5{) s = {K@AW&M&&?{”

of W&’ =/ = —pq- /—:x:

7‘“‘ (7:("'/),'3:‘5(/1(’(/)) s dw - Sle'é«vzzoq

';'(-.‘(md Y+ s, (n-0F =
= Siud tos + }9544%'2;‘7
*tsiang eosy’wfff/




